SA clothing sector bad at trade, but good at jobs
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The reason that the South African clothing and textile industry is losing ground to China is not because China is better at producing clothes; it is because South Africa is better at producing other things. 

If countries only exported the goods that they were the best at producing, then many countries around the world would have nothing to export; but they do. Why? 

Let us use some fictitious numbers between China and South Africa to explain this. Assume that given a certain amount of resources, China was able to produce 400 tons of clothing or 2 000 tons of timber. With the same amount of resources, South Africa was only able to produce 100 tons of clothing or 1 000 tons of timber. China is the more efficient producer of both goods. If China is better at producing both goods, why does it make sense for China to buy timber from South Africa and South Africa to import clothing? 

The reason is that, comparatively, South Africa has to give up less per ton of timber production than China does. Take the situation of no trade between the countries: at the extreme, China can either produce 400 tons of clothing or 2 000 tons of timber. In order to produce and consume some of each, it will have to give up production of one for the other. Given these numbers, it therefore gives up 0.2 tons of clothing for every ton of timber it produces. At the extreme, South Africa can either produce 100 tons of clothing or 1 000 tons of timber and to produce some of each it would have to give up 0.1 tons of clothing for every ton of timber. South Africa therefore has a lower opportunity cost per ton of timber. 

If the countries chose not to trade and to allocate half of their resources to each product, China would produce 200 tons of clothing and 1 000 tons of timber and South Africa would produce 50 tons of clothing and 500 tons of timber. 

Let’s assume instead that the two countries strike a deal to trade timber and clothing at a price of 7.5 tons of timber equal to 1 ton of clothing. South Africa, having the lower opportunity cost in timber, will produce 1 000 tons of timber and sell 500 of this to China. South Africa is therefore left with 500 tons of timber but has exchanged the other 500 for 66.7 tons of clothing. 

It is now able to consume 500 tons of timber and 66.7 tons of clothing; far better than the closed trade situation of 500 tons of timber and only 50 tons of clothing. China, on the other hand, will produce 400 tons of clothing. It can now sell 200 tons of clothing for 1 500 tons of timber, leaving it with a consumption of the 200 remaining tons of clothing and 1 500 tons of timber; better than its closed trade situation of 200 tons of clothing and 1 000 tons of timber. 

The example may be fictitious and simplified, but it shows that the natural outcome of trade is that a country will export those goods that it produces more cheaply than any other, and import those that are more expensive to produce. Economically, it makes no sense for South Africa to produce clothing when it is more competitive in other goods. 

However, socially, the clothing industry provides more jobs. In order to avoid deterring imports through tariffs – which increase the retail price, or producer subsidies, and ultimately cost the taxpayer – the industry needs to reduce its opportunity costs by becoming more productive. 

The recent announcements for funding to support training in the clothing industry are a step in the right direction. 
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